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A. server offload capability

B. reduced security infrastructure requirements
C. the use of NetFlow

D. reduced storage requirements

Answer: B, D

Question: 63
How many routers and Cisco WAE appliances does WCCPv2 support?

A. 16 routers and 32 WAE appliances
B. 32 routers and 32 WAE appliances
C. 8 routers and 16 WAE appliances
D. 32 routers and 8 WAE appliances

Answer: B

Question: 64
Data Redundancy Elimination (DRE) allows the WAE to maintain what?

A. alocal database of TCP segments that have already been seen by the device

B. a local database of TCP segments that use MZ compression

C. avoidance algorithms that safely maximize throughput in lossy scenarios

D. TCP connections that exit the slow-start phase and progress more quickly to receiving ample
throughput

Answer: A

Question: 65
Which hardware platform does Cisco WAAS software run on?

A. ACE module
B. DRE appliance
C. WAE

D. CSM module

Answer: C

Question: 66
Which Cisco WAAS requirement results in a greater support for optimizations?

A. deployment of WCCP

B. deployment in two or more sites

C. deployment of multiple ACE linecards
D. transparent optimizations

Answer: B

Question: 67
What is the best way to mitigate latency?

A. use NetFlow to isolate chatty protocols and filter them
B. deploy a QoS solution 14

C. deploy a less chatty application

D. deploy an intelligent protocol proxy



Answer: D

Question: 68
Which Cisco solution enables data center scalability and greater manageability?

A. central management of all protocol services
B. DRE

C. ACE virtualization

D. protocol acceleration

Answer: C

Question: 69
How do you keep administrative traffic from traversing the WAN?

A. by deploying centrally-managed services

B. by deploying a firewall with managed services

C. by using an intrusion prevention system with centrally-managed services
D. by using an IVS

Answer: A

Question: 70

Cisco Wide Area Application Services (WAAS) Software is a comprehensive WAN optimization
solution that accelerates applications over the WAN, delivers video to branch offices, and
provides local hosting of branch-office IT services. What is the difference between the Cisco
WAAS product family and its competitors?

A. Competitors can provide stateful firewall protection support for.
B. Cisco WAAS slows down the VolP.

C. The Cisco WAAS router module reduces the branch footprint.
D. The Cisco WAAS design uses only a few tunnels.

Answer: C

Question: 71
Lots of customers can not get a quick response from their enterprise web-based applications.
Which of the following items do you think is the best solution?

A. Consolidate servers into the data center and apply a Cisco WAE to seamless access over the
WAN.

B. Deploy AVS at the data center and WAESs at remote sites to optimize response time.

C. Place files on a central server and enable access over the WAN.

D. Distribute and cache files on WAEs--this eliminates the need for local distribution servers.

Answer: B

Question: 72
Which three types of services are ones that WAAS deployment can offer to remote users?
(Choose three.)

A. security 15
B. file
C. print



D. call-control

Answer: B, C, D
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